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1 Introduction

1.1 Objectives
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2 EMe MEDNZ C|XQISH Point of Sale Systeme unit TFIZ TGO unit
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1.2  References

T5.SRA_ver2

T5.SDS_ver2

2 Unit test case specification

2.1  Test case specification identifier

<Table 1>

Identifier

Base_screen

Sale_screen_transition

Refund_screen_transition

Stock_screen_transition

Sale_screen

Sale_screen

Sale_Scan

Sale_Scan(fault)

Increase
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Input Specifications

STATE = 0
STATE = 0
Transition = 1
STATE = 0
Transition = 2
STATE = 0
Transition = 3
STATE = 1
ltem = 0
STATE =1
ltem =7
STATE = 1
ltem = 1
0012] itemZi= = 1
Scan = 001
STATE =1
ltem =1
0012 itemZi== = 1
Scan = 001
STATE = 1
ltem =1
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Output Specifications

7= 2t 29

STATE = 1
Request_stock()
STATE = 2
STATE = 3

Request_stock()

ooy ol =9
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0019] itemZtis=

scan = 0
ERROR = 1
Scan = 0

0019| itemZig= =
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Increase(fault)

error

Decrease

remove

Cost

Refund_screen

Refund_screen

Refund_scan

Refund_scan(fault)

ERROR

Refund_accept

Refund_cancel
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0012] itemZi= = 1
Scan = 001

STATE =1

ltem =1

0019] itemZi =1
Scan = 001

STATE = 1

ERROR =1

STATE =1

ltem =1

0012| itemZ= =2
Scan = 001

STATE = 1

ltem =1

itemZ =2

Scan = 001

STATE =1

Transition = 4

STATE = 2
Value = 0
STATE = 2
Value = 0001
STATE = 2
Scan = 0001
STATE = 2
Scan = 0002
STATE = 2
ERROR =1
STATE = 2
Value = 0001
Transition = 5
STATE = 2
Transition = 0
Value = 0
STATE = 4
STATE = 5

Team 5

Ver. 1

ERROR =1

off2f HAX =5
ERROR = 0

0019] itemZiz= =1
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STATE = 4

ERROR =1

o2 HAIX] =
ERROR = 0
STATE = 5
Update()

STATE = 0
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2.2 Test items
<Table 1> &1
2.3 Input specifications
<Table 1> &2
2.4 Output specifications
<Table 1> &1
3 Environmental needs
OS System 2| Unit TestE {Iot 28X Q7 Ate2 L2 2Lt
(1) Platform
gcc compiler / linker
(2) Unit test framework
CUnit
(3) Integrated Platform
Cygwin

4 Unit test summary report

4.1 Test summary report identifier

Identifier Input Specifications Output Specifications

Base_screen STATE = 0 7|2 glH =9 PASSED

Sale_screen_transition STATE = 0 STATE = 1 PASSED
Transition = 1 Request_stock()

Refund_screen_transition STATE = 0 STATE = 2 PASSED
Transition = 2

Stock_screen_transition STATE = 0 STATE = 3 PASSED
Transition = 3 Request_stock()

Sale_screen STATE = 1 oo 2tH =9 PASSED
ltem = 0

Sale_screen STATE = 1 oo otH =3 PASSED
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Sale_Scan

Sale_Scan(fault)

Increase

Increase(fault)

error

Decrease

remove

Cost

Refund_screen

Refund_screen

Refund_scan

Refund_scan(fault)

~mEYof

OH
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ltem =7

STATE = 1

ltem =1

0012] itemZi= =1
Scan = 001

STATE =1

ltem =1

0019] itemZi= =1
Scan = 001

STATE = 1

ltem =1

0012] itemZi =1
Scan = 001

STATE =1

ltem =1

0012] itemZi= =1
Scan = 001

STATE = 1

ERROR =1

STATE =1

ltem =1

0019] itemZ= =2
Scan = 001

STATE = 1

ltem = 1

itemZ =2

Scan = 001

STATE =1

Transition = 4

STATE = 2
Value = 0
STATE = 2
Value = 0001
STATE = 2
Scan = 0001
STATE = 2
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0019| itemZi= =2

scan = 0

ERROR =1

Scan =0

0019| itemZi= =2

ERROR =1

of2f HAX =3
ERROR = 0

0019] itemZiz= =1

itemZd= =0
STATE = 4
HagE = we 3
_ o}

o T
Update()
o= ol =9
stE 3l =9
Value = 0001
ERROR = 1

(o]}]
=5

PASSED

PASSED

PASSED

PASSED

PASSED

PASSED

PASSED

PASSED

PASSED

PASSED

PASSED

PASSED
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Scan = 0002

ERROR STATE = 2 ol HAIX =9 PASSED
ERROR = 1 ERROR = 0

Refund_accept STATE = 2 STATE = 5 PASSED
Value = 0001 Update()
Transition = 5

Refund_cancel STATE = 2 STATE = 0 PASSED
Transition = 0
Value = 0

Ty 2t= STATE = 4 ooy 2t2 otH =9 PASSED

gEgs STATE = 5 o= 2E 3tH =H PASSED

4.2  Evaluation
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